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R CZFMDEL
JIE 52 EFA Fhig = 1st |[2nd| 65% | 5 8%
1 ¥ HBE |BTHEW 289 150 139 9 10
2 MmE MHYBETHT 275 133 142 6 12
3 wE BF |ZEH 262 126 136 3 9
4 s = ZE™ 240 120 120 3 8
5 ERX HF [HUERX 195 89 106 3 4
R CEFNDER
JIE 452 EFA Fhig a5 1st |[2nd| 65% | 5%
1 FIU 4] |BTHT™ 310 156 154 13 14
2 FFE EE |HREX 301 151 150 1 16
3 —AX B— [FHRERX 281 145 136 8 12
4 B FM—ER |ETH™ 270 128 142 5 13
5 A = BTHE™M 268 139 129 4 14
6 felE iE [/EHT 237 126 111 6 9
i ¥ 1B |FAEREM 220 123 97 2 11
8 T PE i X 219 108 111 3 1
9 B g X 158 84 74 1 1
B BXZFMDEL
JIE 52 EFA Fhig = 1st |[2nd| 65% | 58%
1 =E BxE [AFERIIE 192 101 91 2 6
2 INEHCH [RHIRX 138 62 76 0 2
B BB FNDER
JIE 52 EFA Fhig = 1st |[2nd| 65% | 5 8%
1 ML BEN |EAR 300 148 152 1 21
2 I E e EILS 275 138 137 8 10
3 =t BAX |EHTHT 267 130 137 1 12
4 INR f— |ETHM 266 133 133 13 6
5 SEH ME |8E)IE 261 114 147 10 10
6 FEX ZFH |EHMER 258 127 131 6 8
1 =i % BTE™M 255 119 136 6 13
8 [RE ¥ |ETEST 254 119 135 3 11
9 £& K |BTEST 245 118 127 5 10
10 K% 4B |BTH™ 230 114 116 4 6
11 ET # HERX 224 111 113 3 11
12 & =BF |RiER 208 100 108 1 12
13 d)ll #$E |BETHS 206 105 101 3 8
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JIE 32 EFH il 8% 1st |[2nd| 6% | 52%
1 & B |ETET 388 193 195 34 32
2 wRA Bk [HREX 385 194 191 34 29
3 |EE E/\ [HiER 383 199 184 33 28
4 |BX #7 [BuE 381 191 190 32 29
5 [EME BE |[#EE 357 178] 179 23 25
6 |[FEBdHs [ILRE 350 175 175 19 29
7 |®mE——= [LxE 338 171 167 29 23
8 |EH =B [2EH 321 157 164 12 29
9 |k K [FEE 303 146 157 10 16
10 [#E: F [WEE 295 146 149 11 14
11 |Be =i [#ERX 267 177 90 15 17
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| gtz | 5BF& | mE | &5 [ 1st [2nd] 658 | 55% |
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